
 9
17

 

 1
38

7 

 5
88

 

 418 

 6
38

  (
m

ax
im

um
 h

ei
gh

t)
 

 1
62

1 
 (m

in
im

um
 h

ei
gh

t)
 

 565,50 

 8
69

 

 223 

 151 

SCALE 1:12

V1.0 04/06/2014  Original Version.

VERSION DATE CODE MODIFICATIONS

REVIEWS

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 1 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

General Description

1:10
-



SCALE 1:4

A

DETAIL A 
SCALE 2 : 5

Connection Box
Cover

Box
Connections

Base Support
Bars (x2)

Cable Passes
Short Bar

Cable Passes
Bar

1 2

2

2

2

ITEM NUMBER DESCRIPTION AMOUNT

1 Hexagonal Screw M5x10 1
2 Countersunk Allen Screw M8x30 4

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 2 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Facility Description Box Connections

1:10
-



B

SCALE 1:10

Box
Connections

Cable Passes Bar

Cable Passes
Short Bar

1

1

1

1
Support Tube

Clamp

Support Tube
Clamp

DETAIL B
SCALE 1 : 5

ITEM NUMBER DESCRIPTION AMOUNT

1 Cylindrical Allen Screw M6x30 4

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 3 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Fixation Description Box Connections

1:10
-



C

BUS Support TRB-412 

Male Shock Absorber
(Vibrachoc:530903-14)

(x4)

Female Shock Absorber
(Vibrachoc:530903-14)

(x4)

DETAIL C 
SCALE 1 : 2

SCALE 1:5

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 4 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Description Shock Absorber Installation

1:10
-



D

DETAIL D 
SCALE 1 : 4

Part Hitch Support

TRB-412

1

1

3

3

4

4 2

2

SCALE 1:6

ITEM NUMBER DESCRIPTION AMOUNT

1 Square Neck Screw M10x25 2
2 Plane Washer M10 2
3 Grower Washer M10 2
4 Hexagonal Nut M10 Auto-Blocking 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 5 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Part Description Hitch Installation

1:10
-



BUS Support
TRB-412

Bar Structure

U Bar Support
(x4)

U Shock Absorber Support
(x4)

SCALE 1:10

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 6 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Description BUS Support Installation

1:10
-



1

1

1

1

3

3

3

3

U Bar Support
(x4)

U Shock Absorber Support
(x4)

2

2

2

2

SCALE 1:10

ITEM NUMBER DESCRIPTION AMOUNT
1 Square Neck Screw M10x100 4

2 Debounce Washer Vibrachoc 
530903-13 4

3 Hexagonal Nut M10 Auto-Blocking 4

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 7 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Fixation Description BUS Support

1:10
-



TRB-412

SCALE 1:10

* NOTE: Support TRB-412 hang on and
               then screw to fix.            

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 8 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Description TRB-412 Installation

1:10
-



SCALE 1:10

E

DETAIL E
SCALE 1 : 5

1

1 2

2

3

3

ITEM NUMBER DESCRIPTION AMOUNT

1 Hexagonal Screw M8x25 2
2 Grower Washer M8 2
3 Plane Washer M8 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

DIN-A3
Sheet 9 de 9

DEBURRING AND
BREAKING SHARP
EDGES BUS Support TRB-412 SZCZECIN

Serigraphy:

Finished:
Material:

Scale:
Units:

Tolerance:

mm

Designation:

Designed:

Product Code:

Revised:
MMMG
MAMM

Acronym Date
04/06/14
04/06/14

MECHANICAL

8765

Fixation Description TRB-412

1:10
-


	Hoja1
	Vista de dibujo38
	Vista de dibujo39
	Vista de dibujo40

	Hoja2
	Vista de dibujo23
	Vista de dibujo24
	Vista de detalle A (2 : 5)

	Hoja3
	Vista de dibujo21
	Vista de detalle B (1 : 5)

	Hoja4
	Vista de dibujo6
	Vista de detalle C (1 : 2)
	Vista de dibujo31

	Hoja5
	Vista de dibujo16
	Vista de detalle D (1 : 4)
	Vista de dibujo32

	Hoja6
	Vista de dibujo9
	Vista de dibujo10

	Hoja7
	Vista de dibujo11
	Vista de dibujo12

	Hoja8
	Vista de dibujo13
	Vista de dibujo14

	Hoja9
	Vista de dibujo18
	Vista de dibujo19
	Vista de detalle E (1 : 5)


